
Choisir	l'opération	qui	convient	dans	un	problème	(deux	opérations)

Fiche

•	Si	on	cherche	un	total,	on	a	affaire	à	une	situation	additive.

On	doit	faire	une	addition.

Par	exemple	:	au	jeu	de	Yam's,	Candice	a	totalisé	687	points	et	Yohan,	599	points.	Combien	ont-ils	de	points	à	eux	deux	?

687	+	599	=	1	286.

•	Si	on	cherche	un	complément,	une	différence,	un	reste,	on	a	affaire	à	une	situation	soustractive.

On	doit	faire	une	addition	à	trou	ou	une	soustraction.

Par	exemple	:	au	jeu	de	Yam's,	Yohan	a	totalisé	456	points	et	Candice,	317	points.	Combien	de	points	les	séparent	?

317	+	139	=	456	ou	456	−	317	=	139.
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